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I Continued discussion regarding redemption of v”yn worth less than 5”»
a  v.1-excludes some mwyn from 1/5 > if it’s less than o™
i nr" (and 1Ny 1) — only if the fruit itself is worth less than 2™
ii  »or’ (and 9™) - even if the wmin of the fruit is worth less than a"v
1 Challenge: (to 12 PR) — w"yn<a”y, "»1”if he says that it +1/5 is Y511 on an already-used coin”
(a) Explanation: according to approach of 1a PR, why use "7” — R0p
I Various questions about wnm
a Is wnmn taken “w9n” (from the principal) or "a%n” (1/5 of the aggregate, including the addition)?
i Proof: if owner (who adds 1/5) will pay 20 and another will pay 20 — owner redeems (adds 1/5)
1 But: if the other offers 21, 2”nya pays 26 (1/5 is only added to 17p, not to artificially inflated value) 291%n wmn
2 Asper: dispute in reading v. 2 -
(a) wa 7 mwnn means the 19p plus wmin =5 parts (1250)
(b) 7r272 77 3mwN means 1/5 of the 1 (W9n)
b  Is wmn indispensable (20yn) to redemption or not?
i Lemmal: is the redemption at principal value and the wnn a separate gift/fine?
ii ~ Lemma2: is the redemption set at 5/4 of the value?
1 Proof: '8n1 has no wmin (i.e. redeeming *XnT Yv w”yn carries no obligation of an “added fifth”)
(a) Explanation: when ordaining '8n7, 1327 only enforced that component of 1178 which is indispensable — 17p
iii  Suggestion: this is subject to dispute ywi /8" :
1 ~77if he redeemed without paying wmn, he may eat the fruit (former v”yn) - dispensable
2y 7. without paying wmmn, he may not eat
(a) 227 we prefer R™’s opinion on naw and »’s on 5N
(i) Implication: their positions are consistent 91n as well as naw
(if) Assumption: they disagree if wmn is dispensable (™) or not (")
3 Rejection (97): all hold 23yn ywr wmn; disagreement if we are concerned that he will neglect to pay wmn (")
iv  Note: 37nv "1 — all agree that w1pn is “redeemed” without wmn, since the treasurers will exact payment publicly
1 Challenge: nnan /8™ disagree about w1pn (8" — redeemed w/o wmn)
(a) 27 we prefer R™'s opinion re: WTpn and 0'NIN’s re IWYN
(i) Implication: their positions are consistent in re: wTpn as well as 7wyn
(ii) = DnIN maintain that wnIN is WP 29YN — contra ANV *7’s assertion
2 Rather: nny " stated that all agree that wnn is dispensable in re: nawa wpn
(@) Reason:v.3 (naw my) AND
(b) Reason: the 1121 will exact payment (for the fifth) — even if they have to do so publicly.
¢ ®nnA1m: does wnin take on characteristics of 19p?
i wIpn: can wmn of wTpn be redeemed on land? (j9p cannot - viz. v. 4)
ii  nMAN: can wmn of NN be paid with AmIn (17p cannot — viz. v. 5)
iii  w"pn: can wmn of v"yn be redeemed on a slug (17p cannot — viz. v. 6)
iv  Answer(s) — 811 — vy (v. 5) extends rules of 19p to wmn
1 Support (x2237): if someone steals NN and eats it — pays wmm 13p from P50 (+19p of nmn for Ya3)
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